

Annals of the University of Craiova

Mathematics and Computer Science Series

Vol. LI, Issue 2, December 2024

Managing Editor

Ionel Roventă, University of Craiova, Romania

Editorial Board

Acad. Viorel Barbu, Romanian Academy, Romania

Acad. Constantin Năstăsescu, Romanian Academy, Romania

Professor Dr. Magdalena Boureanu, University of Craiova

Professor Dr. Dumitru Buşneag, University of Craiova, Romania

Professor Dr. Philippe G. Ciarlet, French Academy of Sciences, France

Professor Dr. Constanţa Dana Constantinescu, University of Craiova, Romania

Professor Dr. Jesus Ildefonso Diaz, Universidad Complutense de Madrid, Spain

Professor Dr. Gioia Failla, Mediterranean University of Reggio Calabria, Italy

Professor Dr. Giovany Figueiredo, University of Brasilia, Brazil

Professor Dr. Roberta Filippucci, University of Perugia, Italy

Professor Dr. Ionel-Dumitrel Ghiba, University "Alexandru Ioan Cuza" of Iaşi, Romania

Professor Dr. Giovanni Molica Bisci, Mediterranean University of Reggio Calabria, Italy

Professor Cristinel Mardare, City University of Hong Kong, Hong Kong

Dr. Robert J. Martin, University Duisburg Essen, Germany

Professor Dr. Andaluza Matei, University of Craiova, Romania

Professor Dr. Sorin Micu, University of Craiova, Romania

Professor Dr. Gheorghe Moroşanu, Babeş-Bolyai University, Cluj-Napoca, Romania

Professor Dr. Octavian Mustafa, University of Craiova, Romania

Professor Dr. Constantin P. Niculescu, University of Craiova, Romania

Professor Dr. Paul Popescu, University of Craiova, Romania

Professor Dr. Patrizia Pucci, University of Perugia, Italy

Professor Dr. Ionel Roventa, University of Craiova, Romania

Professor Dr. Dongdong Qin, Central South University, Changsha, China

Professor Dr. Mihaela Racila, University of Craiova, Romania

Professor Dr. Mircea Sofonea, Universite de Perpignan, France

Professor Dr. Enzo Vitillaro, University of Perugia, Italy

Professor Dr. Michel Willem, Université Catholique de Louvain, Belgium

Professor Dr. Tudor Zamfirescu, Romanian Academy, Romania

Professor Dr. Enrique Zuazua, University of Deusto, Spain, Spain

Professor Dr. Shengda Zeng, Yulin Normal University, Guangxi, China

Professor Dr. Runzhang Xu, Harbin Engineering University, China

Dr. Mihai Gabroveau, University of Craiova, Romania

Managing Assistant Editor

Professor Dr. Mihaela Sterpu, University of Craiova, Romania

Assistant Editors

Dr. Mihai Gabroveau, University of Craiova, Faculty of Mathematics and Computer Science, Romania

Dr. Laurențiu-Emanuel Temereancă, University of Craiova, Romania

Dr. Maria Mălin, University of Craiova, Romania

Dr. Vasile Uță, University of Craiova, Romania

Website Editor

Mihai Gabroveau, University of Craiova, Romania

Volume Editors: Ionel Roventă, Mihaela Sterpu

Layout Editor: Mihai Gabroveau

ISSN 1223-6934

Online ISSN 2246-9958

Web: <http://inf.ucv.ro/~ami/>

Printed in Romania: Editura Universitaria, Craiova, 2024

<http://www.editurauniversitaria.ro>

Some New Integral Inequalities for Exponential Type P -functions

MAHIR KADAKAL, İMDAT İŞCAN, AND HURIYE KADAKAL

ABSTRACT. In this paper, by using an identity we obtain some new Hermite-Hadamard type inequalities for functions whose first derivative in absolute value is exponential type P -function by using Hölder and power-mean integral inequalities. Then, the authors compare the results obtained with both Hölder, Hölder-İşcan integral inequalities and prove that the Hölder-İşcan integral inequality gives a better approximation than the Hölder integral inequality. Also, some applications to special means of real numbers are also given.

2010 Mathematics Subject Classification. Primary 26A51; Secondary 26D10, 26D15.

Key words and phrases. Exponential type convexity, exponential type P -function, Hermite-Hadamard inequality.

1. Preliminaries and fundamentals

Let $\Psi : I \rightarrow \mathbb{R}$ be a convex function. Then the following inequalities hold

$$\Psi\left(\frac{r+s}{2}\right) \leq \frac{1}{s-r} \int_r^s \Psi(u) du \leq \frac{\Psi(r) + \Psi(s)}{2}$$

for all $r, s \in I$ with $r < s$. Both inequalities hold in the reversed direction if the function Ψ is concave. This double inequality is well known as the Hermite-Hadamard inequality [6]. Note that some of the classical inequalities for means can be derived from Hermite-Hadamard integral inequalities for appropriate particular selections of the mapping Ψ .

In [5], Dragomir et al. gave the following definition and related Hermite-Hadamard integral inequalities as follow:

Definition 1.1. A nonnegative function $\Psi : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ is said to be P -function if the inequality

$$\Psi(\theta r + (1 - \theta)s) \leq \Psi(r) + \Psi(s)$$

holds for all $r, s \in I$ and $\theta \in (0, 1)$.

Theorem 1.1. Let $\Psi \in P(I)$, $r, s \in I$ with $r < s$ and $\Psi \in L[r, s]$. Then

$$\Psi\left(\frac{r+s}{2}\right) \leq \frac{2}{s-r} \int_r^s \Psi(u) du \leq 2[\Psi(r) + \Psi(s)].$$

Definition 1.2 ([17]). Let $h : J \rightarrow \mathbb{R}$ be a non-negative function, $h \neq 0$. We say that $\Psi : I \rightarrow \mathbb{R}$ is an h -convex function, or that Ψ belongs to the class $SX(h, I)$, if Ψ is non-negative and for all $u, v \in I$, $\theta \in (0, 1)$ we have

$$\Psi(\theta r + (1 - \theta)s) \leq h(\theta)\Psi(r) + h(1 - \theta)\Psi(s).$$

If this inequality is reversed, then Ψ is said to be h -concave, i.e. $\Psi \in SV(h, I)$. It is clear that, if we choose $h(\theta) = \theta$ and $h(\theta) = 1$, then the h -convexity reduces to convexity and definition of P -function, respectively.

Readers can look at [1, 17] for studies on h -convexity.

In [13], Kadakal and İşcan gave the following definition and related Hermite-Hadamard integral inequalities as follow:

Definition 1.3. A non-negative function $\Psi : I \subset \mathbb{R} \rightarrow \mathbb{R}$ is called exponential type convex function if for every $r, s \in I$ and $\theta \in [0, 1]$,

$$\Psi(\theta r + (1 - \theta)s) \leq (e^\theta - 1)\Psi(r) + (e^{1-\theta} - 1)\Psi(s).$$

We note that every nonnegative convex function is exponential type convex function.

Theorem 1.2 ([13]). Let $\Psi : [r, s] \rightarrow \mathbb{R}$ be a exponential type convex function. If $r < s$ and $\Psi \in L[r, s]$, then the following Hermite-Hadamard type inequalities hold:

$$\frac{1}{2[\sqrt{e} - 1]}\Psi\left(\frac{r+s}{2}\right) \leq \frac{1}{s-r} \int_r^s \Psi(u)du \leq (e-2)[\Psi(r) + \Psi(s)].$$

In recent years many authors have studied error estimations of Hermite-Hadamard type inequalities; for refinements, counterparts, generalizations, for some related papers see [2, 3, 4, 5, 9, 10, 11, 12, 13, 14, 16].

In [15], Numan and İşcan gave the following definition and Hermite-Hadamard integral inequality:

Definition 1.4 ([15]). A non-negative function $\Psi : I \subset \mathbb{R} \rightarrow \mathbb{R}$ is called exponential type P -function if for every $r, s \in I$ and $\theta \in [0, 1]$,

$$\Psi(\theta r + (1 - \theta)s) \leq (e^\theta + e^{1-\theta} - 2)[\Psi(r) + \Psi(s)].$$

We will denote by $ETP(I)$ the class of all exponential type P -functions on interval I . We note that, every exponential type P -function is a h -convex function with the function $h(\theta) = e^\theta + e^{1-\theta} - 2$. Also, every exponential type convex function is also a exponential type P -function, every P -function is also a exponential type P -function and every nonnegative convex function is also an exponential type P -function.

Theorem 1.3. Let $\Psi : [r, s] \rightarrow \mathbb{R}$ be a exponential type P -function. If $r < s$ and $\Psi \in L[r, s]$, then the following Hermite-Hadamard type inequalities hold:

$$\frac{1}{4[\sqrt{e} - 1]}\Psi\left(\frac{r+s}{2}\right) \leq \frac{1}{s-r} \int_r^s \Psi(u)du \leq (2e-4)[\Psi(r) + \Psi(s)].$$

Theorem 1.4 (Hölder-İşcan integral inequality [8]). Let $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$. If f and g are real functions defined on interval $[a, b]$ and if $|f|^p$, $|g|^q$ are integrable

functions on $[a, b]$ then

$$\int_a^b |f(x)g(x)| dx \leq \frac{1}{b-a} \left\{ \left(\int_a^b (b-x) |f(x)|^p dx \right)^{\frac{1}{p}} \left(\int_a^b (b-x) |g(x)|^q dx \right)^{\frac{1}{q}} \right. \\ \left. + \left(\int_a^b (x-a) |f(x)|^p dx \right)^{\frac{1}{p}} \left(\int_a^b (x-a) |g(x)|^q dx \right)^{\frac{1}{q}} \right\}$$

2. Some new integral inequalities for exponential type P -functions

The main purpose of this section is to establish new estimates that refine Hermite-Hadamard inequality for functions whose first derivative in absolute value is exponential type P -function and then we will compare the results obtained with both Hölder, Hölder-İşcan integral inequalities and prove that the Hölder-İşcan integral inequality gives a better approximation than the Hölder integral inequality. In this section, we will denote by $L[r, s]$ the space of (Lebesgue) integrable functions on $[r, s]$. İşcan [7] used the following lemma:

Lemma 2.1 ([7]). *Let $f : I \subseteq \mathbb{R} \rightarrow \mathbb{R}$ be a differentiable mapping on I° , such that $f' \in L[a, b]$, where $a, b \in I$ with $a < b$ and $\theta, \lambda \in [0, 1]$. Then the following equality holds:*

$$(1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \\ = (b-a) \left[-\lambda^2 \int_0^1 (t-\theta) f'(ta + (1-t)[(1-\lambda)a + \lambda b]) dt \right. \\ \left. + (1-\lambda)^2 \int_0^1 (t-\theta) f'(tb + (1-t)[(1-\lambda)a + \lambda b]) dt \right].$$

Theorem 2.2. *Let $f : I \subseteq [0, \infty) \rightarrow \mathbb{R}$ be a differentiable mapping on I° , such that $f' \in L[a, b]$, where $a, b \in I^\circ$ with $a < b$ and $\lambda, \theta \in [0, 1]$. If $|f'|$ is exponential type P -function on interval $[a, b]$, then the following inequality holds*

$$\left| (1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ \leq 2(b-a) (2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 2) \\ \times \left[\lambda^2 A(|f'(a)|, |f'(A_\lambda)|) + (1-\lambda)^2 A(|f'(b)|, |f'(A_\lambda)|) \right], \quad (1)$$

where $A_\lambda = A_\lambda(a, b) = (1-\lambda)a + \lambda b$, and $A(u, v) = A_{1/2}(u, v) = \frac{u+v}{2}$ is the arithmetic mean

Proof. Using Lemma 2.1[7]theorem.2.1 and the following inequalities

$$|f'(ta + (1-t)c_\lambda)| \leq (e^t + e^{1-t} - 2) [|f'(a)| + |f'(A_\lambda)|] \\ |f'(tb + (1-t)c_\lambda)| \leq (e^t + e^{1-t} - 2) [|f'(b)| + |f'(A_\lambda)|],$$

we get

$$\begin{aligned}
& \left| (1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
& \leq (b-a) \left[\frac{\lambda^2 \int_0^1 |t-\theta| f'(ta + (1-t)A_\lambda)| dt}{+(1-\lambda)^2 \int_0^1 |t-\theta| |f'(tb + (1-t)A_\lambda)| dt} \right] \\
& \leq (b-a) \left[\lambda^2 \int_0^1 |t-\theta| (e^t + e^{1-t} - 2) [|f'(a)| + |f'(A_\lambda)|] dt \right. \\
& \quad \left. + (1-\lambda)^2 \int_0^1 |t-\theta| (e^t + e^{1-t} - 2) [|f'(b)| + |f'(A_\lambda)|] dt \right] \\
& = (b-a) \left[\lambda^2 [|f'(a)| + |f'(A_\lambda)|] \int_0^1 |t-\theta| (e^t + e^{1-t} - 2) dt \right. \\
& \quad \left. + (1-\lambda)^2 [|f'(b)| + |f'(A_\lambda)|] \int_0^1 |t-\theta| (e^t + e^{1-t} - 2) dt \right] \\
& = (b-a) [\lambda^2 [|f'(a)| + |f'(A_\lambda)|] (2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 2) \\
& \quad + (1-\lambda)^2 [|f'(b)| + |f'(A_\lambda)|] (2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 2)] \\
& = 2(b-a) \lambda^2 A(|f'(a)|, |f'(A_\lambda)|) (2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 2) \\
& \quad + 2(b-a) (1-\lambda)^2 A(|f'(b)|, |f'(A_\lambda)|) (2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 2) \\
& = 2(b-a) (2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 2) \\
& \quad \times [\lambda^2 A(|f'(a)|, |f'(A_\lambda)|) + (1-\lambda)^2 A(|f'(b)|, |f'(A_\lambda)|)]
\end{aligned}$$

where

$$\int_0^1 |t-\theta| (e^t + e^{1-t} - 2) dt = 2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 2$$

This completes the proof of the theorem. \square

Theorem 2.3. Let $f : I \subseteq [0, \infty) \rightarrow \mathbb{R}$ be a differentiable mapping on I° , such that $f' \in L[a, b]$, where $a, b \in I^\circ$ with $a < b$ and $\lambda, \theta \in [0, 1]$. If $|f'|^q, q > 1$ is exponential type P -function on interval $[a, b]$, then the following inequality holds

$$\begin{aligned}
& \left| (1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
& \leq (b-a) (2e-4)^{\frac{1}{q}} \left(\frac{\theta^{p+1} + (1-\theta)^{p+1}}{p+1} \right)^{\frac{1}{p}} \\
& \quad \times \left[\lambda^2 [|f'(a)|^q + |f'(A_\lambda)|^q]^{\frac{1}{q}} + (1-\lambda)^2 [|f'(b)|^q + |f'(A_\lambda)|^q]^{\frac{1}{q}} \right], \quad (2)
\end{aligned}$$

where $\frac{1}{p} + \frac{1}{q} = 1$ and $A_\lambda = (1-\lambda)a + \lambda b$.

Proof. Using Lemma 2.1[7]theorem.2.1, well known Hölder's integral inequality and the following inequalities

$$\begin{aligned} |f'(ta + (1-t)c_\lambda)|^q &\leq (e^t + e^{1-t} - 2) [|f'(a)|^q + |f'(A_\lambda)|^q] \\ |f'(tb + (1-t)c_\lambda)|^q &\leq (e^t + e^{1-t} - 2) [|f'(b)|^q + |f'(A_\lambda)|^q] \end{aligned}$$

which is the property of the exponential type P -function of $|f'|^q$, we get

$$\begin{aligned} &\left| (1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x)dx \right| \\ &\leq (b-a) \int_0^1 |t-\theta| \lambda^2 |f'(ta + (1-t)A_\lambda)| dt \\ &\quad + (b-a) \int_0^1 |t-\theta| (1-\lambda)^2 |f'(tb + (1-t)A_\lambda)| dt \\ &\leq (b-a) \left(\int_0^1 |t-\theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 \lambda^{2q} |f'(ta + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \\ &\quad + (b-a) (1-\lambda)^2 \left(\int_0^1 |t-\theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (1-\lambda)^{2q} |f'(tb + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \\ &\leq (b-a) \left(\int_0^1 |t-\theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (e^t + e^{1-t} - 2) \lambda^{2q} [|f'(a)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \\ &\quad + (b-a) \left(\int_0^1 |t-\theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (e^t + e^{1-t} - 2) (1-\lambda)^{2q} [|f'(b)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \\ &= (b-a) (2e-4)^{\frac{1}{q}} \left(\frac{\theta^{p+1} + (1-\theta)^{p+1}}{p+1} \right)^{\frac{1}{p}} \\ &\quad \times \left[(\lambda^{2q} [|f'(a)|^q + |f'(A_\lambda)|^q])^{\frac{1}{q}} + ((1-\lambda)^{2q} [|f'(b)|^q + |f'(A_\lambda)|^q])^{\frac{1}{q}} \right], \end{aligned}$$

where

$$\begin{aligned} \int_0^1 |t-\theta|^p dt &= \frac{\theta^{p+1} + (1-\theta)^{p+1}}{p+1}, \\ \int_0^1 (e^t + e^{1-t} - 2) dt &= 2e - 4. \end{aligned}$$

This completes the proof of the theorem. \square

Theorem 2.4. Let $f : I \subseteq [0, \infty) \rightarrow \mathbb{R}$ be a differentiable mapping on I° , such that $f' \in L[a, b]$, where $a, b \in I^\circ$ with $a < b$ and $\lambda, \theta \in [0, 1]$. If $|f'|^q$ is exponential type P -function on interval $[a, b]$ and $q \geq 1$, then the following inequality holds

$$\begin{aligned} &\left| (1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x)dx \right| \\ &\leq 2^{\frac{1}{q}}(b-a) \left(\theta^2 - \theta + \frac{1}{2} \right)^{1-\frac{1}{q}} [2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 4]^{\frac{1}{q}} \\ &\quad \times \left[\lambda^2 A^{\frac{1}{q}} (|f'(a)|^q, |f'(A_\lambda)|^q) + (1-\lambda)^2 A^{\frac{1}{q}} (|f'(b)|^q, |f'(A_\lambda)|^q) \right], \quad (3) \end{aligned}$$

where $\frac{1}{p} + \frac{1}{q} = 1$, $A_\lambda = A_\lambda(a, b) = (1-\lambda)a + \lambda b$, and $A(u, v) = A_{1/2}(u, v) = \frac{u+v}{2}$ is the arithmetic mean.

Proof. From Lemma 2.1[7]theorem.2.1, well known power-mean integral inequality and the property of exponential type P -function of $|f'|^q$, we obtain

$$\begin{aligned}
 & \left| (1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
 & \leq (b-a)\lambda^2 \int_0^1 |t-\theta| |f'(ta + (1-t)A_\lambda)| dt \\
 & \quad + (b-a)(1-\lambda)^2 \int_0^1 |t-\theta| |f'(tb + (1-t)A_\lambda)| dt \\
 & \leq (b-a)\lambda^2 \left(\int_0^1 |t-\theta| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 |t-\theta| |f'(ta + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \\
 & \quad + (b-a)(1-\lambda)^2 \left(\int_0^1 |t-\theta| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 |t-\theta| |f'(tb + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \\
 & \leq (b-a)\lambda^2 \left(\int_0^1 |t-\theta| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 |t-\theta| (e^t + e^{1-t} - 2) [|f'(a)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \\
 & \quad + (b-a)(1-\lambda)^2 \left(\int_0^1 |t-\theta| dt \right)^{1-\frac{1}{q}} \left(\int_0^1 |t-\theta| (e^t + e^{1-t} - 2) [|f'(b)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \\
 & = (b-a)\lambda^2 \left(\theta^2 - \theta + \frac{1}{2} \right)^{1-\frac{1}{q}} \left([|f'(a)|^q + |f'(A_\lambda)|^q] [2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 4] \right)^{\frac{1}{q}} \\
 & \quad + (b-a)(1-\lambda)^2 \left(\theta^2 - \theta + \frac{1}{2} \right)^{1-\frac{1}{q}} \left([|f'(b)|^q + |f'(A_\lambda)|^q] [2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 4] \right)^{\frac{1}{q}} \\
 & = 2^{\frac{1}{q}}(b-a) \left(\theta^2 - \theta + \frac{1}{2} \right)^{1-\frac{1}{q}} \left[2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 4 \right]^{\frac{1}{q}} \\
 & \quad \times \left[\lambda^2 A^{\frac{1}{q}}(|f'(a)|^q, |f'(A_\lambda)|^q) + (1-\lambda)^2 A^{\frac{1}{q}}(|f'(b)|^q, |f'(A_\lambda)|^q) \right],
 \end{aligned}$$

where

$$\begin{aligned}
 \int_0^1 |t-\theta| dt &= \theta^2 - \theta + \frac{1}{2} \\
 \int_0^1 |t-\theta| (e^t + e^{1-t} - 2) dt &= 2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 4
 \end{aligned}$$

This completes the proof of the theorem. \square

Corollary 2.5. Under the assumption of Theorem 2.4theorem.2.4, If we take $q = 1$ in the inequality (3equation.2.3), then we get the following inequality:

$$\begin{aligned}
 & \left| (1-\theta)(\lambda f(a) + (1-\lambda)f(b)) + \theta f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\
 & \leq 2(b-a) [2e^\theta + 2e^{1-\theta} - 2\theta^2 + 2\theta - e - 4] \\
 & \quad \times \left[\lambda^2 A(|f'(a)|, |f'(A_\lambda)|) + (1-\lambda)^2 A(|f'(b)|, |f'(A_\lambda)|) \right].
 \end{aligned}$$

This inequality coincides with the inequality (1equation.2.1).

Corollary 2.6. *Under the assumption of Theorem 2.4, If we take $\theta = 1$ in the inequality (3equation.2.3), then we get the following inequality:*

$$\left| f((1-\lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq (b-a) e^{\frac{1}{q}} \left(\frac{1}{2} \right)^{1-\frac{2}{q}} \left[\lambda^2 A^{\frac{1}{q}} (|f'(a)|^q, |f'(A_\lambda)|^q) + (1-\lambda)^2 A^{\frac{1}{q}} (|f'(b)|^q, |f'(A_\lambda)|^q) \right].$$

Corollary 2.7. *Under the assumption of Theorem 2.4 with $\theta = 1$, If we take $|f'(x)| \leq M, x \in [a, b]$ then we get the following Ostrowski type integral inequality:*

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq M(b-a) e^{\frac{1}{q}} \left(\frac{1}{2} \right)^{1-\frac{2}{q}} \left[\frac{(x-a)^2 + (b-x)^2}{2(b-a)} \right]$$

for each $x \in [a, b]$.

Proof. There exist $\lambda_x \in [0, 1]$ such that $x = (1-\lambda_x)a + \lambda_x b$ for each $x \in [a, b]$. So, we take $\lambda_x = \frac{x-a}{b-a}$ and $1-\lambda_x = \frac{b-x}{b-a}$. Therefore, for each $x \in [a, b]$ we obtain the required inequality from the inequality (3equation.2.3). \square

Corollary 2.8. *Under the assumption of Theorem 2.4 with $\theta = 1$, then we have following generalized trapezoid type integral inequality*

$$\left| \lambda f(a) + (1-\lambda)f(b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq e^{\frac{1}{q}} (b-a) \left(\frac{1}{2} \right)^{1-\frac{2}{q}} \left[\lambda^2 A^{\frac{1}{q}} (|f'(a)|^q, |f'(A_\lambda)|^q) + (1-\lambda)^2 A^{\frac{1}{q}} (|f'(b)|^q, |f'(A_\lambda)|^q) \right],$$

where $c = (1-\lambda)a + \lambda b$.

Corollary 2.9. *Under the assumption of Theorem 2.4 with $\lambda = \frac{1}{2}$ and $\theta = \frac{2}{3}$, then we have the following Simpson type integral inequality*

$$\begin{aligned} & \left| \frac{1}{6} \left[f(a) + 4f\left(\frac{a+b}{2}\right) + f(b) \right] - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq 2^{\frac{1}{q}} (b-a) \left(\frac{7}{18} \right)^{1-\frac{1}{q}} \left[2e^{\frac{2}{3}} + 2e^{\frac{1}{3}} - e - \frac{8}{9} \right]^{\frac{1}{q}} \\ & \quad \times \left[\frac{1}{4} A^{\frac{1}{q}} \left(|f'(a)|^q, \left| f'\left(\frac{a+b}{2}\right) \right|^q \right) + \frac{1}{4} A^{\frac{1}{q}} \left(|f'(b)|^q, \left| f'\left(\frac{a+b}{2}\right) \right|^q \right) \right]. \end{aligned}$$

Corollary 2.10. *Under the assumption of Theorem 2.4 with $\lambda = \frac{1}{2}$ and $\theta = 1$, then we have the following midpoint type integral inequality*

$$\left| f\left(\frac{a+b}{2}\right) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq e^{\frac{1}{q}} (b-a) \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left[A^{\frac{1}{q}} \left(|f'(a)|^q, \left| f'\left(\frac{a+b}{2}\right) \right|^q \right) + A^{\frac{1}{q}} \left(|f'(b)|^q, \left| f'\left(\frac{a+b}{2}\right) \right|^q \right) \right].$$

Corollary 2.11. *Under the assumption of Theorem 2.4 with $\lambda = \frac{1}{2}$ and $\theta = 0$, then we have the following trapezoid type integral inequality*

$$\left| \lambda f(a) + (1 - \lambda)f(b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \leq e^{\frac{1}{q}}(b-a) \left(\frac{1}{2} \right)^{2-\frac{2}{q}} \left[A^{\frac{1}{q}} \left(|f'(a)|^q, \left| f' \left(\frac{a+b}{2} \right) \right|^q \right) + A^{\frac{1}{q}} \left(|f'(b)|^q, \left| f' \left(\frac{a+b}{2} \right) \right|^q \right) \right].$$

Theorem 2.12. *Let $f : I \subseteq [0, \infty) \rightarrow \mathbb{R}$ be a differentiable mapping on I° , such that $f' \in L[a, b]$, where $a, b \in I^\circ$ with $a < b$ and $\lambda, \theta \in [0, 1]$. If $|f'|^q$, $q > 1$ is exponential type P -function on interval $[a, b]$, then the following inequality holds*

$$\begin{aligned} & \left| (1 - \theta)(\lambda f(a) + (1 - \lambda)f(b)) + \theta f((1 - \lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq 2(b-a)(e-2)^{\frac{1}{q}} \left[\lambda^2 [|f'(a)|^q + |f'(A_\lambda)|^q]^{\frac{1}{q}} + (1 - \lambda)^2 [|f'(b)|^q + |f'(A_\lambda)|^q]^{\frac{1}{q}} \right] \\ & \quad \times \left[\left(\frac{(p - \theta + 2)\theta^{p+1} + (1 - \theta)^{p+2}}{(p+1)(p+2)} \right)^{\frac{1}{p}} + \left(\frac{\theta^{p+2} + (p + \theta + 1)(1 - \theta)^{p+1}}{(p+1)(p+2)} \right)^{\frac{1}{p}} \right] \quad (4) \end{aligned}$$

where $\frac{1}{p} + \frac{1}{q} = 1$ and $A_\lambda = (1 - \lambda)a + \lambda b$.

Proof. Using Lemma 2.1[7]theorem.2.1, Hölder-İşcan integral inequality and the following inequalities

$$\begin{aligned} |f'(ta + (1-t)c)|^q & \leq (e^t + e^{1-t} - 2) [|f'(a)|^q + |f'(A_\lambda)|^q] \\ |f'(tb + (1-t)c)|^q & \leq (e^t + e^{1-t} - 2) [|f'(b)|^q + |f'(A_\lambda)|^q] \end{aligned}$$

which is the property of the exponential type P -function of $|f'|^q$, we get

$$\begin{aligned} & \left| (1 - \theta)(\lambda f(a) + (1 - \lambda)f(b)) + \theta f((1 - \lambda)a + \lambda b) - \frac{1}{b-a} \int_a^b f(x) dx \right| \\ & \leq (b-a) \int_0^1 |t - \theta| \lambda^2 |f'(ta + (1-t)A_\lambda)| dt \\ & \quad + (b-a) \int_0^1 |t - \theta| (1 - \lambda)^2 |f'(tb + (1-t)A_\lambda)| dt \\ & \leq (b-a) \left\{ \left(\int_0^1 (1-t) |t - \theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (1-t) \lambda^{2q} |f'(ta + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left(\int_0^1 t |t - \theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 t \lambda^{2q} |f'(ta + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \right\} \\ & \quad + (b-a) \left\{ \left(\int_0^1 (1-t) |t - \theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (1-t) (1 - \lambda)^{2q} |f'(tb + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \right. \\ & \quad \left. + \left(\int_0^1 t |t - \theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 t (1 - \lambda)^{2q} |f'(tb + (1-t)A_\lambda)|^q dt \right)^{\frac{1}{q}} \right\} \end{aligned}$$

$$\begin{aligned}
&\leq (b-a) \left\{ \left(\int_0^1 (1-t) |t-\theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 (1-t) (e^t + e^{1-t} - 2) \lambda^{2q} [|f'(a)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \right. \\
&\quad \left. + \left(\int_0^1 t |t-\theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 t (e^t + e^{1-t} - 2) \lambda^{2q} [|f'(a)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \right\} \\
&\quad + (b-a) \left\{ \left(\int_0^1 (1-t) |t-\theta|^p dt \right)^{\frac{1}{p}} \right. \\
&\quad \times \left(\int_0^1 (1-t) (1-\lambda)^{2q} (e^t + e^{1-t} - 2) [|f'(b)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \\
&\quad \left. + \left(\int_0^1 t |t-\theta|^p dt \right)^{\frac{1}{p}} \left(\int_0^1 t (e^t + e^{1-t} - 2) (1-\lambda)^{2q} [|f'(b)|^q + |f'(A_\lambda)|^q] dt \right)^{\frac{1}{q}} \right\} \\
&= (b-a) \left\{ \left(\frac{(p-\theta+2)\theta^{p+1} + (1-\theta)^{p+2}}{(p+1)(p+2)} \right)^{\frac{1}{p}} ((e-2)\lambda^{2q} [|f'(a)|^q + |f'(A_\lambda)|^q])^{\frac{1}{q}} \right. \\
&\quad \left. + \left(\frac{\theta^{p+2} + (p+\theta+1)(1-\theta)^{p+1}}{(p+1)(p+2)} \right)^{\frac{1}{p}} ((e-2)\lambda^{2q} [|f'(a)|^q + |f'(A_\lambda)|^q])^{\frac{1}{q}} \right\} \\
&\quad + (b-a) \left\{ \left(\frac{(p-\theta+2)\theta^{p+1} + (1-\theta)^{p+2}}{(p+1)(p+2)} \right)^{\frac{1}{p}} ((e-2)(1-\lambda)^{2q} [|f'(b)|^q + |f'(A_\lambda)|^q])^{\frac{1}{q}} \right. \\
&\quad \left. + \left(\frac{\theta^{p+2} + (p+\theta+1)(1-\theta)^{p+1}}{(p+1)(p+2)} \right)^{\frac{1}{p}} ((e-2)(1-\lambda)^{2q} [|f'(b)|^q + |f'(A_\lambda)|^q])^{\frac{1}{q}} \right\} \\
&= (b-a)(e-2)^{\frac{1}{q}} \left[\left(\frac{(p-\theta+2)\theta^{p+1} + (1-\theta)^{p+2}}{(p+1)(p+2)} \right)^{\frac{1}{p}} + \left(\frac{\theta^{p+2} + (p+\theta+1)(1-\theta)^{p+1}}{(p+1)(p+2)} \right)^{\frac{1}{p}} \right] \\
&\quad \times \left[\lambda^2 [|f'(a)|^q + |f'(A_\lambda)|^q]^{\frac{1}{q}} + (1-\lambda)^2 [|f'(b)|^q + |f'(A_\lambda)|^q]^{\frac{1}{q}} \right]
\end{aligned}$$

where

$$\begin{aligned}
\int_0^1 (1-t) |t-\theta|^p dt &= \frac{(p-\theta+2)\theta^{p+1} + (1-\theta)^{p+2}}{(p+1)(p+2)} \\
\int_0^1 t |t-\theta|^p dt &= \frac{\theta^{p+2} + (p+\theta+1)(1-\theta)^{p+1}}{(p+1)(p+2)}, \\
\int_0^1 (1-t) (e^t + e^{1-t} - 2) dt &= \int_0^1 t (e^t + e^{1-t} - 2) dt = e - 2.
\end{aligned}$$

This completes the proof of the theorem. \square

Remark 2.1. The inequality (4equation.2.4) gives better results than the inequality (2equation.2.2). Let us show that

$$\begin{aligned}
&\left(\frac{(p-\theta+2)\theta^{p+1} + (1-\theta)^{p+2}}{(p+1)(p+2)} \right)^{\frac{1}{p}} + \left(\frac{\theta^{p+2} + (p+\theta+1)(1-\theta)^{p+1}}{(p+1)(p+2)} \right)^{\frac{1}{p}} \\
&\leq 2^{\frac{1}{q}} \left(\frac{\theta^{p+1} + (1-\theta)^{p+1}}{p+1} \right)^{\frac{1}{p}}.
\end{aligned}$$

Using the well known classic inequalities $u^\lambda + v^\lambda \leq 2^{1-\lambda}(u+v)^\lambda$, $u, v \in (0, \infty)$, $\lambda \in (0, 1]$, by sample calculation we get

$$\begin{aligned} & \left(\frac{(p-\theta+2)\theta^{p+1} + (1-\theta)^{p+2}}{(p+1)(p+2)} \right)^{\frac{1}{p}} + \left(\frac{\theta^{p+2} + (p+\theta+1)(1-\theta)^{p+1}}{(p+1)(p+2)} \right)^{\frac{1}{p}} \\ & \leq 2^{1-\frac{1}{p}} \left(\frac{(p-\theta+2)\theta^{p+1} + (1-\theta)^{p+2} + \theta^{p+2} + (p+\theta+1)(1-\theta)^{p+1}}{(p+1)(p+2)} \right)^{\frac{1}{p}} \\ & = 2^{\frac{1}{q}} \left(\frac{\theta^{p+1} + (1-\theta)^{p+1}}{p+1} \right)^{\frac{1}{p}} \end{aligned}$$

which is the required.

3. Applications for special means

Throughout this section, for shortness, the following notations will be used for special means of two nonnegative numbers r, s with $s > r$:

1. The arithmetic mean

$$A := A(r, s) = \frac{r+s}{2}, \quad r, s \geq 0.$$

2. The weighted arithmetic mean

$$A_\alpha(r, s) := (1-\alpha)r + \alpha s, \quad r, s \geq 0, \alpha \in [0, 1].$$

3. The geometric mean

$$G := G(r, s) = \sqrt{rs}, \quad r, s \geq 0.$$

4. The weighted geometric mean

$$G_\alpha := G_\alpha(r, s) = r^{1-\alpha} s^\alpha, \quad r, s > 0, \alpha \in [0, 1].$$

3. The harmonic mean

$$H := H(r, s) = \frac{2rs}{r+s}, \quad r, s > 0.$$

4. The logarithmic mean

$$L := L(r, s) = \begin{cases} \frac{s-r}{\ln s - \ln r}, & r \neq s \\ r, & r = s \end{cases}; \quad r, s > 0.$$

5. The p -logarithmic mean

$$L_p := L_p(r, s) = \begin{cases} \left(\frac{s^{p+1} - r^{p+1}}{(p+1)(s-r)} \right)^{\frac{1}{p}}, & r \neq s, p \in \mathbb{R} \setminus \{-1, 0\} \\ r, & r = s \end{cases}; \quad r, s > 0.$$

6. The identric mean

$$I := I(r, s) = \frac{1}{e} \left(\frac{s^s}{r^r} \right)^{\frac{1}{s-r}}, \quad r, s > 0.$$

These means are often used in numerical approximation and in other areas. However, the following simple relationships are known in the literature:

$$H \leq G \leq L \leq I \leq A.$$

It is also known that L_p is monotonically increasing over $p \in \mathbb{R}$, denoting $L_0 = I$ and $L_{-1} = L$.

Proposition 3.1. *Let $\lambda, \theta \in [0, 1]$, $r, s \in [0, \infty)$ with $r < s$ and $n \geq 2$. Then, the following inequalities are obtained:*

$$|A_\theta(A_{1-\lambda}(r^n, s^n), A_\lambda^n(r, s)) - L_n^n(r, s)| \leq 4n(s-r) \left(e^\theta + e^{1-\theta} - \theta^2 + \theta - \frac{e}{2} - 1 \right) \left[\lambda^2 A(r^{n-1}, A_\lambda^{n-1}) + (1-\lambda)^2 A(s^{n-1}, A_\lambda^{n-1}) \right].$$

Proof. The assertion follows from the inequalities (1equation.2.1) for the function

$$f(x) = x^n, \quad x \in [0, \infty).$$

□

Proposition 3.2. *Let $\lambda, \theta \in [0, 1]$, $r, s \in (0, \infty)$ with $r < s$. Then, the following inequalities are obtained:*

$$|A_\theta(A_{1-\lambda}(r^{-1}, s^{-1}), A_\lambda^{-1}(r, s)) - L^{-1}(r, s)| \leq 4(s-r) \left(e^\theta + e^{1-\theta} - \theta^2 + \theta - \frac{e}{2} - 1 \right) \left[\lambda^2 H^{-1}(r^2, A_\lambda^2) + (1-\lambda)^2 H^{-1}(s^2, A_\lambda^2) \right].$$

Proof. The assertion follows from the inequalities (1equation.2.1) for the function

$$f(x) = x^{-1}, \quad x \in (0, \infty).$$

□

Proposition 3.3. *Let $\lambda, \theta \in [0, 1]$, $r, s > 0$ with $r < s$. Then, the following inequalities are obtained:*

$$\left| \ln \left(\frac{G_{1-\lambda}^\theta A_\lambda^\theta}{I} \right) \right| \leq 4(s-r) \left(e^\theta + e^{1-\theta} - \theta^2 + \theta - \frac{e}{2} - 1 \right) \left[\lambda^2 H^{-1}(r, A_\lambda) + (1-\lambda)^2 H^{-1}(s, A_\lambda) \right].$$

Proof. The assertion follows from the inequalities (1equation.2.1) for the function

$$f(x) = \ln x, \quad x > 0.$$

□

4. Conclusion

In this paper, with the help of an identity, some new Hermite-Hadamard type integral inequalities are obtained using the Hölder and power-mean integral inequalities for functions whose first derivative in absolute value is an exponential type P -function. The authors can obtain new types of integral inequalities for exponential type P -functions using different identities. Then, the authors compare the obtained results with both Hölder and Hölder-İşcan integral inequalities and show that Hölder-İşcan integral inequality provides a better approximation than Hölder inequality.

References

- [1] M. Bombardelli, S. Varošanec, Properties of h -convex functions related to the Hermite-Hadamard-Fejér inequalities, *Comput. Math. Appl.* **58** (2009), 1869–1877.
- [2] A. Barani, S. Barani, Hermite-Hadamard type inequalities for functions when a power of the absolute value of the first derivative is P -convex, *Bull. Aust. Math. Soc.* **86** (2012), no. 1, 129–134.
- [3] K. Bekar, Hermite-Hadamard Type Inequalities for Trigonometrically P -functions, *Comptes rendus de l'Académie bulgare des Sciences* **72** (2019), no. 11, 1449–1457.
- [4] S.S. Dragomir, R.P. Agarwal, Two inequalities for differentiable mappings and applications to special means of real numbers and to trapezoidal formula, *Appl. Math. Lett.* **11** (1998), 91–95.
- [5] S.S. Dragomir, J. Pečarić, L.E. Persson, Some inequalities of Hadamard Type, *Soochow Journal of Mathematics* **21** (1995), no. 3, 335–341.
- [6] J. Hadamard, Étude sur les propriétés des fonctions entières en particulier d'une fonction considérée par Riemann, *J. Math. Pures Appl.* **58** (1893), 171–215.
- [7] İ. İşcan, New estimates on generalization of some integral inequalities for s -convex functions and their applications, *International Journal of Pure and Applied Mathematics* **86** (2013), no. 4, 727–746.
- [8] İ. İşcan, New refinements for integral and sum forms of Hölder inequality, *Journal of inequalities and applications* **2019** (2019), no. 1, 1–11.
- [9] İ. İşcan, E. Set, M.E. Özdemir, Some new general integral inequalities for P -functions, *Malaya J. Mat.* **2** (2014), no. 4, 510–516.
- [10] İ. İşcan, V. Olucak, Multiplicatively harmonically P -functions and some related Inequalities, *Sigma J. Eng. & Nat. Sci.* **37** (2019), no. 2, 521–528.
- [11] M. Kadakal, İ. İşcan, H. Kadakal, On new Simpson type inequalities for the p -quasi convex functions, *Turkish J. Ineq.* **2** (2018), no. 1, 30–37.
- [12] M. Kadakal, H. Karaca, İ. İşcan, Hermite-Hadamard type inequalities for multiplicatively geometrically P -functions, *Poincare Journal of Analysis & Application* **2** (2018), no. 1, 77–85.
- [13] M. Kadakal, İ. İşcan, Exponential type convexity and some related inequalities, *J. Inequal. Appl.* **2020** (82) (2020), 1–9.
- [14] M.A. Latif, T. Du, Some generalized Hermite-Hadamard and Simpson type inequalities by using the p -convexity of differentiable mappings, *Turkish J. Ineq.* **2** (2018), no. 2, 23–36.
- [15] S. Numan, İ. İşcan, On exponential type P -functions, *Communications Faculty of Sciences University of Ankara Series A1 Mathematics and Statistics* **70** (2021), no. 1, 497–509.
- [16] E. Set, M.A. Ardiç, Inequalities for log-convex and P -functions, *Miskolc Math. Notes* **18** (2017), 1033–1041.
- [17] S. Varošanec, On h -convexity, *J. Math. Anal. Appl.* **326** (2007), 303–311.

(Mahir Kadakal) DEPARTMENT OF CUSTOMS MANAGEMENT, FACULTY OF APPLIED SCIENCES,
BAYBURT UNIVERSITY, 69000, BAYBURT, TÜRKİYE
E-mail address: mahirkadakal@gmail.com

(İmdat İşcan) DEPARTMENT OF MATHEMATICS, FACULTY OF ARTS AND SCIENCES, GİRESUN
UNIVERSITY, 28200, GİRESUN, TÜRKİYE
E-mail address: imdati@yahoo.com

(Huriye Kadakal) BAYBURT UNIVERSITY, FACULTY OF EDUCATION, DEPARTMENT OF PRIMARY
EDUCATION, BABERTİ CAMPUS, 69000 BAYBURT, TÜRKİYE
E-mail address: huriyekadakal@hotmail.com